)
ol
pt

B
e

@
24



_04
3717} o=
B}

B
il

1

2 Wiy



2 o= YUY

Z

N

of A= gt dge] E1

b

mopo vehdct

Yol o
@ @Ho] 2 7Yyt

@

I3

T

N
N

g

]

2]o

o 2 71 ¢]

G ZAIZFE o] FE o] Zole} mm o] £ o

gl
il
)

N
o7

B
BH



4. e Y5 AAEE BT, 97159 AW Holg FakAlL.

@)

~
~

~-62.8cm-~~ /‘150111
@ 314cm? @ 628 cm? @ 942 cm?

@ 1256 cm? 3 1570 cm?



5cm

3cm

cm?



oL 971%50] Eo|7t Tem Y

o} o]

wo|7} 131.88 cm? 2HH, ¥7] 5o W

o419,

5 EER cm



cm

g
(2]
©
N
(e 8}
N

cm



3cm

cm



the 1%
27152)

@ 100.48cm?

@ 125.6cm3

2 P59 AA=Y. o] AAEE U71F
738 25142,

O

T12.56cm- "

O

@ 105.76cm?
® 150.76cm3

@ 116.28cm?






)

1o‘|
LEE:
O ®2A

)

= 2714y
AL
L

® =49

i
£

1jo

o

J
¢
ol

!



12. o2 971

FSHA L.

@ 748 cm

@ 1182cm

o] AA=IYt Ao S¥o] 2

O

@ 868 cm

\
120cm

@ 1496 cm

ol

™
=

cm A



A]Eo] 12cm ©]aL, E°17F6em o W]

HEz] 0] 4¢m ©]11, E0]7} 15em ¢ €75

t)

24 ol7F 216 cm? Q1 A=A

@
@
@ < BA27FTem 1 FSHA
@
®

o] A1==7F 15.7cm ©|1, =9]7F 6cem 1 ¥7]=



14. the ANER BSolAE 247150 27} 628cm® L W, FWS
N CEE EREEE AT

O




15.




bel 13171 4]

S

S 6 =
AZS 50

ol

PAEF ] 2Eole B em® JU7?

-l b

@ 188.4cm? @ 314 cm?

@ 125.6cm?

3) 732.56 cm?2

@ 502.4 cm?2



17. 293 22 F @159 guel WhEE AA44ET ZHUn. £
= o] A
5

o Fylele] A& FobAlo.

1\5_7cm
(71)

T~62.8cm-~

(1) 2.8cm

o _--

15,7cn/1



18. 73} Zo] @H §EZ]F0] 10em, =°]17F 10em Y FHe7] 59
256l Bol Eof YHIth o] B2 17 @2} o] ALtk ol
% em7} HAEA el g AA Ae7A oA L.

45° A
10cm

@ &)




19. o2 dA=F 9 BEolE oA L.




20.

A b, @, @] A5 Polg e

7cm



